Ht > 1500 GeV

Nj, Ny M7, [GeV] Z—vi Lost lepton Multijet Total background Data
200 — 400 24 +2(stat.) £6(syst.) 16 +3(stat.) +-4(syst.) 10 fll)(stat.) +3(syst.) 50 +4(stat.) £8(syst.) 55
400 — 600 5.6 +0.5(stat.) +1.6(syst.) 2.3 10%(stat.) £0.6(syst.) 0.4 +0.1(stat.) 0.1(syst.) 8.4 T07(stat.) £1.7(syst.) 14
2-3j,0b 600 — 800 1.8 +£0.2(stat.) 0.6(syst.) 1.7 +04(stat.) +0.7(syst.) 0.1 +0.0(stat.) +0.0(syst.) 3.5 F04(stat.) £0.9(syst.) 1
800 — 1000 0.8 £0.1(stat.) 0.4(syst.) 0.8 +°2(stat ) £0.5(syst.) | 0.01 T00(stat.) £0.01(syst.) | 1.6 £0.2(stat.) £0.6(syst.) 1
> 1000 0.7 +0.1(stat.) 0.4(syst.) 0.5 +0.1(stat.) +0.3(syst.) 0.00 fg:gé(stat.) +0.00(syst.) 1.2 £0.1(stat.) £0.5(syst.) 3
) 200 — 400 44 f[l):;(stat.) +1.5(syst.) 4.2 f%é(stat‘) +1.9(syst.) 3.6 +0.2(stat.) +1.3(syst.) 12 £2(stat.) £3(syst.) 18
2-3j,1b 400 — 600 0.9 +£0.2(stat.) 0.4(syst.) 1.1 *0(stat.) £0.6(syst.) 0.1 +0.0(stat.) 0.1(syst.) 2.2 704 (stat.) £0.7(syst.) 2
> 600 0.6 03 (stat.) £0.4(syst.) 0.4 +0.2(stat.) +£0.3(syst.) | 0.03 £0.01(stat.) +:0.01(syst.) | 1.1 *{3(stat.) +:0.5(syst.) 1
2—3j,2b > 200 0.7 *&_g(stat ) T08(syst.) 0.0 "5 (stat.) £0.0(syst.) 0.6 +0.0(stat.) +0.3(syst.) 1.3 722(stat.) "5 (syst.) 4
200 — 400 30 £2(stat.) iS(syst) 34 fi(stat.) +7(syst.) 84 f4(stat.) £-14(syst.) 148 76(stat.) i17(syst) 106
) 400 — 600 8.4 107 (stat.) +£2.4(syst.) 4.6 +0.6(stat.) +1.1(syst.) 3.2 07 (stat.) +£0.7(syst.) 16 +1(stat.) £3(syst.) 17
4 —6j, 0b 600 — 800 3.1 {5 (stat.) £1.1(syst.) 0.9 +0.1(stat.) £0.3(syst.) 0.6 T3 (stat.) £0.2(syst.) 4.6 T04(stat.) £1.1(syst.) 5
800 — 1000 1.2 +£0.1(stat.) £0.5(syst.) 0.4 0 (stat.) £0.2(syst.) 0.1 Fp#(stat.) £0.0(syst.) 1.7 Th3(stat.) £0.6(syst.) 0
> 1000 0.9 +0.1(stat.) iO.S(syst.) 0.3 0.0(stat.) -0.2(syst.) 0.0 lgvé(stat) +0.0(syst.) 1.2 £0.1(stat.) £0.5(syst.) 2
200 — 400 9.1 TT4(stat.) T35 (syst.) 11 F3(stat.) +3(syst.) 41 £2(stat.) £10(syst.) 61 *3(stat.) ill(syst) 56
4-6j,1b 400 — 600 1.6 +3§(stat ) ;tO 6(syst.) 1.7 +g§(stat ) £0.6(syst.) 1.5 +0.3(stat.) +£0.4(syst.) 48 +g"(stat ) T90(syst.) 10
> 600 1.2 £0.2(stat.) £0.6(syst.) 0.8 0.2(stat.) +0.5(syst.) 0.4 fg:%(stat.) +0.1(syst.) 2.4 £0.3(stat.) +0.8(syst.) 5
200 — 400 1.3 F05(stat.) +£0.7(syst.) 4.6 71 8(stat.) £1.7(syst.) 11 +1(stat.) +4(syst.) 17 *2(stat.) 4(syst.) 12
4-6j,2b 400 — 600 0.3 £0.1(stat.) +0.2(syst.) 0.7 105 (stat.) £0.4(syst.) 0.4 +0.1(stat.) +0.2(syst.) 1.4 T03(stat.) £0.5(syst.) 5
> 600 0.3 £0.1(stat.) 0.2(syst.) 0.4 T9%(stat.) £0.4(syst.) 0.1 £0.0(stat.) 0.0(syst.) 0.8 ““(stat ) £0.4(syst.) 1
> 7, 0b 200 — 400 6.4 712 (stat.) T3 (syst.) 10 +3(s¢at) +3(syst.) 32 £2(stat.) £8(syst.) 48 +4(sfat) i9(syst) 39
= > 400 2.8 j35(stat) H1(syst) 15 +gi(stat) +0.7(syst.) 1.5 703 (stat.) £0.4(syst.) 5.8 +07(s.tat) 1 (syst) 10
> 7%, 1b 200 — 400 1.7 03 (stat.) TT(syst.) 12 F3(stat.) +3(syst.) 20 +1(stat.) +6(syst.) 33 t3(stat.) :t7(syst.) 19
= > 400 1.0 A *(stat) o(syst.) 1.7 +‘J‘*(stat) +0.8(syst.) 0.9 03 (stat.) £0.3(syst.) 3.6 tgj(stat.) +1.1(syst.) 9
> 7,2 200 — 400 0.5 jog_zg(stat )T 5 3 (syst.) 8.6 +(}J§(stat.) +2.3(syst.) 6.7 +£0.3(stat.) +2.8(syst.) 16 +2(stat.) +4(syst.) 15
> 400 0.2 fo:l(stat.) iO 2(syst.) 1.2 foz(stat ) 0.6(syst.) 0.3 *g é(stat ) £0.1(syst.) 1.7 £0.3(stat.) £0.7(syst.) 3
2 6,>3b 200 —400 | 0.00 +0.00(stat.) £0.00(syst.) | 2.5 7}5(stat.) £1.6(syst.) 1.5 +0.1(stat.) £1.1(syst.) 4.0 5 (stat.) £1.9(syst.) 4
= > 400 0.00 +0.00(stat.) +0.00(syst.) | 0.4 *3 §<stat ) £0.3(syst.) 0.1 +0.0(stat.) £0.1(syst.) 0.5 +g g(stat ) £0.3(syst.) 0
> 7, > 3b 200 — 400 0.0 T (stat.) £0.0(syst.) 2.6 T08(stat.) £0.9(syst.) 1.7 +0.1(stat.) £1.3(syst.) 4.3 T08(stat.) £1.6(syst.) 3
== > 400 0.0 fg_%(stat) +0.0(syst.) 0.2 0.0(stat.) 0.1(syst.) 0.1 £0.0(stat.) £0.1(syst.) 0.2 fg_%(stat) +0.1(syst.) 1




